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BSZ0-S0101
B.Sc. DEGREE EXAMINATION, DECEMBER - 2024
ZOOLOGY
Introduction to Classical Biology
(Semester - I) (CBCS Pattern) (Regular)
(w.e.f. 2023-2024 Admitted Batch)

Time : 3 Hours Max. Marks : 75
\
SECTION - A
I. Multiple choice questions: (30x1=30)

1. Plant Taxonomy concerned with
a) Identification
b) Nomenclature
c) Classification of a system
d) All the above

2050 HOBBEED DOVOPHODHE
D) HYOY Q) TBGE0

R) BH At B0 &) PSP
2. The principle of botanical nomenclature
a) Independent of Zoological Nomenclature
b) Retroactive
c¢) In latin
d) All the above
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EPARDES TOBOESE DRSO

D)  eerdsS TeEnspo $0b D880
) BFoRES

D)  enos®

&) 299

The Primary consumers are

a) Herbivores

b) Carnivores

c) Both

d) None

PEHIE HOATTX TN

D) TeSeIDED D)
) GCotsr &)

Descriptive taxonomy is
a) Alpha taxonomy b)

¢) Gamma taxonomy d)

DS 5550 038

D) SR 5 #)

R) e 08 8)
2]

3J20RISDD
O 8%

Beta taxonomy
A&B

Bew 5550
() ooty ()
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Abiotic component of Ecosystem

a) Salts

b) Atmospheric gases

c) Light and heat

d) All the above

DEBRHS> GBS, ©DAAREIE grtso

D) OB Q) TWDVEI TR0V

D) wosMOC BB &) DY

. .

2,4-D is .
a) Insecticide b) Weedicide
c) Detergent d) Effluent
2,4-D o
D) PHOHDOLD Q) Beng) D00
D) G&gdoes &) DO
Crytogams
a) Gymnosperms b) Angidsperms
¢) Bryophyta d) None
By
D) BIRYG, @) ofroeddeyh,,
Q)  @AdRPerR &) 988
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8. Literary meaning of photosyntl.lesw,
a) In presence of carbon dioxide

b) In presence of Sun light
c¢) 'In presence of water
d) In presence of chlorophyll

Beseoesss, HOCIRABOD Gt RR&RE,BK50, DO
D) S (505)3%5 DE0god®

) REE08 HIFoS

D) DB Hogod

&) 85658 Dogod®

9. The total net ATP gain per hexose molecule is

Synthesis

a) 36 b) 38
c) 40 d) 42
3830 SROEREE Bniso D85 ATP enafo
D) 36 9) 38
D) 40 &) a2

10. Which of the following is not a function of stomata

a) Regulation of turgidity of guard cells
b) Loss of water vapor

c) Loss due to guttation

d) Exchange of O, and Co,
SA-1128 n
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808 0t36° HO Vs A3, HE 5D
D) (L) BEeFe toede Howogt

) i3 sdod 8 5t0
D) BERS setomn $HO
&) 0,00 CO,5nh
11. A fruit ripening growth regulator
a) Auxin
b) Cytokinin
c) Gibberelin
d) Ethylene

Dotk HOE BLDHES HOHOBEO
) 88 |
D) eFBOS
D) OO
&) 2POS

12. The basal region of the ovule where nucellus,
integuments and funiculus merge

a) Raphe b) Aril
c) Chalaza d) Micropyle
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BRIGR, ROBN;B008), HOOOKD 0800 D BT,
@omIaHO 308, S FpoBo
D) TP 9) ©od
Q)  SeoeR &) W8S
13. Pick incorrect statement of Respiratory system
a) Lungs
b) Trachea and with airways

c) Trachea without airways
d) In and out of air of the blood stream

BB 5,50 T, B, HEBD Do 0k,
D) &BVOBHRD
) T HTEO HOOH TOHETRCOSS

D) B DeEeD THow B PO

&) 88 HeER0 AInE, Md G550 HHIO0H BeHe
14. A partial cleavage is
a) Holoblastic cleavage

b) Meroblastic cleavage
c) Both
d) None

SA-1128 161
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085 HOE

D) Réepdl HO8 Q) O%epRHE HOY
2) Soum &) 568
Cardiovascular system consists of

a) Heart b) Blood Vessels
c) Blood d) All the above
&R)SoHTRY B 808 €000

D) HoG Q) U5vegeen

Q) 8o &) 25
Moriculture

a) Cultivation of mulberry leaves
b) Extraction of silk
¢) Promoting growth of silkworm

d) All the above

SRO5R0

D) oS 8B D

Q) DY 3OBAE

R) DRI HEXDERD D 3R0E0
&) 5
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17. A germ line of embryo which froms nervous system
a) Ectoderm b) Mesoderm
¢) Endoderm d) None

b BHBH0 D30 Botso A, BB, B
o) »8aG, @) a5,
D) DO&RG, &) 956 8%

18. During gametogenesis, a cell undergoes

a) Reduction divison b) Equal division
c¢) Mitosis d) None

SRRBOVD DH0HOSE, 258 S SFHHB0

(>

D) Bfod dartio D) DB DHEFed
R) DoedRRD &) SHTH
19. Which of the following is a functional unit of a
body?
a) Mitochondria b) Cytoplasm
c) Spleen d) Cell
Botd t36° B0 St HOKHS BRRES H?
0) DotFsobate Q) a0
B)  fmio 8) 28
SA-1128 8]
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20. Which of the following is known as the suicide bag

of a cell?
a) Mitochondria b) Golgi Complex
c) Lysosome d) Nuclei

800 ot3S° BQ S & KRB eny O HEORRL?
D) DoeFseofose ®) 6% 208,
D) BSD &) Bogeeen
21. A cell organelle that is present in animal cells but
not present in plant cells is
a) Cytoplasm
b) Centrosome
c) Mitochondrial
d) Golgi complex
B30t Beed B0t 56 @500, 590 B00%, Bezed? Gos
D) Deap=o ) ROV
) ?_36553@0136 &) 6% 52035
22. The correc? sequence of stage of mitosis 1S
a) Prophase, Metaphase, Telophase, Anaphase
b) Prophase, Metaphase, Anaphase, Telophase
c) Anaphase, Telophase, Prophase, Metaphase

d) Telophase, Anaphase, Prophase, Metaphase
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BEPRO 5 Ay S EDO
D) MDD, DerPl, HHPL, BTPV
B) . Doard, O, SO0
) ;méx%. BSHO, PP, DEIOPR
8) 8P, B, D, PPV
23. The central dogma of molecular biology states that

genetic information flows. |
a) Only one direction,from DNA to RNA Protein

b) Only one direction, from RNA to DNA to
Protein

c) Botha&b

d) None of the above

DO B5TIY0 B0, BoS REBOBO By V&REE0

BP0 DE?,00.

®) DNA o8 RNA &08 35638 555 258 2 &

@) RNA 5008 DNA &008 D568 555 258 258 &S
D) D DO & Botde

&) 339 s

24. The start codon is
a) AUG b) GUG
c) A&B d) UAG
oz 5w
?\)) D& D a.s) UAG
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5. Inorganic chemistry deals with
a) Structure & reaction of carbon compound

b) Structure & reaction of non- carbon compound

c) Both
d) None

S BARODDTO ByHTOR00
D) SRS Wah,HS0 G308, OCR,H0 DAL DB,
) S-5a1S VaD,HS0 CB, DR,EH0 HOADD DB
2) Bo&»
&) & T

26. Analytical chemistry costitute of

a) Qualitative assay
b) Quantitative assay

c) Both
d) None
@35S B DFROE

D) DRSS DI
D) SHOKRPGE DI
) Botw

&) OB
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27. Physical chemistry includes
a) Ph.ysical properties of compounds
b) Concepts of physics
¢) Both
d) None

D35S aa)ofg&) BB 40otnod
D) K Hire ERBE ofwen
&) P8 Fvy grisioen
Q) Cotir
&) DT
28. The hydrophobic force
a) Negative non-covalent force
b) Positive non-covalent force

¢) Negative covalent force
d) Positive covalent force

G985 P65,

D) DBER DOBRBHAH 8B

D) WERO 7PS-855308085 PG,
R)  DOERO HHBRadas B

&) P8S dociradan Y .
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29. The weakest bond is

a) Covalent bond b) Ionic bond
¢) Hydrogen bond d) None

2OARBRD LI0E0
D) Dsbadradad oo ) @aRE 2ogo
D) EaS wogo &) & T

30. The bond in which no sharing of electron pairs is
a) Non covalent bond
b) Weak covalent bond
c) a&b
d) None

abosssgs 2880 R0 B0 oo
D) HocIRadD Boto

B) 2edrd HHcIredad wotso
) @ HooH D

&) &6 8%
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II. Fill in the blanks (10x1=10)

1) The abbreviation of ICZN

ICZN G0, o8B
2) Trinomial nomenclature contains the name of the
organisms into genus, species and

BIFOHS TELEGER0 BHO DEOHED 28, O
SO o 508G €30008).
3) The Monera consist of bacteria and

RO a:gsgaoi)a 500010 D 5B 60008,

4) Thyroid gland disorder causes disease

P08 HO KHEs,E T BOB0D
5) Loss of water from plants in the form of wate:
vapour is called

D3 8O BFH0SS S50 Hod 3D 5'3635635
0eJN).
6) The system is known as gastroinstina
system.
&SR0 ég@ﬁaéﬁé@ ©ORD.
7) The type of cell division in bacteria is

e 8005RE8 Bed Daess Seso

——
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8) The type of Ribosome in plant cell is
B8 BOSD BePeSSH o

9) The science which deals with medication
work

BDOLDO HOS® HBERO0T FoR0

10) branch of chemistry related to
manufacture of new products.

528 €8BI BOITOS DOLOPODD BIPODHD BIHO

a305,, oY
SECTION - B
[II. Very short answer questions. (15x1=15)

1) Define food chain?
85385 (P00 &)cﬁéri)oéo&«,?
2) What are hot spots?
8¢5 Reden 9083 D37
3) What is Global warming?
H¥aS 500,08 9083 HEEI?
4) What is photolysis of water?
563 DeFOD @O He3?
5) What are lenticels?
Soe3Y, 9083 DHEVEI?

[P.T.O.
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6) What is Polysiphonous?
. PORVPEOD ©0b3 DT
7) Define apiculture?
DBYE OB, Dowsols?
8) Name the primary lymphoid organ?
FPHDOE OoPE 008 ©BOLHEROE DD oG ?

9) Which organ system regulates other organ systemg

D OS5 ONIS DY ABC OHOISH & &5 RO,
: DODoB0D?
10) Define cell theory?
Beo ?oc:gcﬁmg DB DoeSos?
11. What is function of Endoplasmic reticulum?
DOGERR,E Be3E©0 Q30E, HD D3 ?
12. What is charged t-RNA?

PG VowadS t-RNA eoss D37
13. Define biochemistry?

SA-1128 L)
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14. Name the branch of chemistry which involves
natural environment?

DS0es DODCERY BOH @y SPaDDS Bo5) BP0
D600k ?

15. Name the type of covalent bonds where the
electrons are shared unequally by the atoms?
o)e)ggiﬁg DEDBTREDDO T2, T0 WDBIPOR HOSOED
£300370283 0D 2OGRe S5l DE%H0L?

[v. Match the following. [10x1=10]
1) Primary producer a) Microconsumer
2) Lympathic system b) 30A thickness of
chromatin
3) Geochemistry c) Hill’s reaction
4) Asilk secreted by d) Autotrophs
5) Decomposer e) E.Placenta
6) DNA content f) Covalent bond
doubles
7) Light reaction &) Study earth systems
8) Nucleosome h) Immunity
9) Ovule develops i) Interphase
from '
10) Sharing of j) Salivary gland
electrons
SA-1128 [17) [PL.O.
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1)  e5a08 D6 o) FoEIERIO

2) S50 B @) 30 A §%50Ed B00%0

3) scarEaLd 2) Snd G30%, BB
4) o é&);éﬁ 8 $8 &) PR
5) &sodsab Q) SRAOLRP
6) BoSot5 3o VHHOD DY) BB REDOD OGO
7) =08 5655, )  gHRg BFROR BEH0D0
S0Hod
8) ®nBarRdiH 270:5) 655065658 B
9) ®ob eotio e 0) ROWGP
WOLDHHOO
10) ae§§ 3Rt 80 8) ez o)
SECTION - C
V. True of False. (10x1=10)

1) The naming of new plant species is regulated by
the International rules of Botanical Nomenclature

828 )5 e300 DD EPERDBS oS30 O3, woscRSah
e
DOHEROE DOHOBOTEBEIOE),
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The Class r.nore sapecific leve] of classification
than the Kingdom in Taxonomy.

2)

HOBBE TR0 BobisSy Kot isse 568 s,
DREp.

3) The term chromosome literally means
coloured bodies.
55300850 0D HeD BFTeR BotHe FOTeD 890 0.

4) Viruses do not follow cell theory.
R RS AEROBY BOVOOID.

5) The antenna complex of PS II absorbs longer
wavelengths of light.
PS 11 B8, oeo8R 50085, 5208 Al0S, LD
édod@_%e)m {5339:0008).

6) C3 plants are twice as efficient as C4 plants in
terms of fixing carbon dioxide.
et eloviiRel 38 06 50D C3 potyy C4 apoly
5085 Both Oy HSOGSOBOR HIWVR.

7) The Musculoskeletal system provides strength,
posture and movement of the body.
éo{oo&'sé‘s 2,808 559 $HB0 330, OO, CALOIgIY
$7005H) B5O58) ®0D00.

[P.TO.
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8) The Respiratory system helps to regulate the

body’s pH balance
B8 55 550 B8, pH DB50800,85,
DODOBOEOS? DBADHEE0L.

9) Weak bonds are primary bonds.
208 20 SPQ0E 20GRLD.

'10) Vanderwaal’s forces are attracting both
molecules and atoms.

P00, 2P YN HOOAKD DG BIREAI D

Bo&0t3d S5, DTRAW.

O 9O 9 ’
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